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1.What can you define in the forwarding order type? There are 3 correct answers to this question
A. Stage determination

B. Freight unit building rule

C. Incoterm location stage building

D. Output profile

E. Purchasing organization

Answer: B, D, E

2.You want to differentiate transportation requirement types in a newly installed SAP TM system based
on SAP ERP document types.

What do you need to create in SAP TM? There are 2 correct answers to this question.

A. A condition based on /SCMTMS/TOR_TYPE

B. A condition based on /SCMTMS/OTR_TYPE

C. A condition based on /SCMTMS/DTR_TYPE

D. A condition based on /SCMTMS/FUBR

Answer: A, B

3.You are assigning organization A to a freight order.

Which of the following organizational unit functions can you assign to organization A to accomplish this?
There are 2 correct answers to this question.

A. Forwarding House

B. Company

C. Purchasing Organization

D. Sales Organization

Answer: B, C

4. What is accomplished with either SAP Pl or Web Services Reliable Messaging (WS-RM)? Please
choose the correct answer.

A. Optimizes warehouse resource and asset utilization

B. Maximizes visibility and control

C. SAP ERRP logistics integration

D. Supports a full range of warehouse processes

Answer: C

5.Let's say that you want to define the freight unit building rules that the system uses when dealing with
dangerous goods and with goods that are not dangerous.

Basically, there are three things to consider, as follows: There are 3 correct answers to this question

A. An input

B. source locations

C. A decision (based on the input and a condition that you have specified)

D. An output

Answer: A, C, D
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